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Q1 


Simplifying


6b2


2b


= 3b2             Simplify the digits, 6/2 = 3/1 = 3


     b


= 3b        Cancel out the letters, remembering that b2 = b x b so only cancel one letter





Q2   


Multiplying


6   x    3a


ab      4b2





=     6 x 3 x a      .       Multiply the top and 


    a x b x 4 x b x b     bottom


= 18a                          Simplify the digits


   4ab3


= 9a                           Cancel out the letters


   2 ab3


= 9


  2b3





Division


Same as multiplication but you must change the equation first.


2a   ÷     5a         =       2a         x       3b


5b          3b                  5b                  5a





Q3


Adding or subtracting fractions





6a     +    b


3             4


Find the lowest common multiple


3 times table: 3, 6, 9, 12, 15, 20…


4 times table: 4, 8, 12, 16, 20… 


Multiply the top and bottom by the required number


= 6a x 4          +       b x 3


    3 x 4                    4 x 3


= 24a       +       3b


  12                   12


Add the two numerators


= 24a + 3b


       12


Simplify the fraction, digits and letters


= 3(7a + b)


      3 x 4


= 7a + b


       4


Note: For three terms, remember to make all of the terms have the same denominator





Q4


Same idea as above, remembering how to expand brackets.





x + 3      -   x + 2


  4                 2





= 2(x + 3)      -      4(x + 2)


   4 x 2                   2 x 4





= 2x + 6        -       4x + 8


   8                             8


= 2x + 6 – 4x – 8


              8


= -2x -2


       8


=  - x – 1


         4
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